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( smeolIB@ H6p 2 eiten eIBens Hefld CFUIH Gupaled Rewewruiad! )
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BIBDSEH] LIT6UeVE 6T

1. @) BrewrwumissT @@ Wewm FHevrLLiLi(hSlsrmer . X ereitug Ybsefler erapraniisansamids GmlsSTsv,
() & mpQeuaflenw stpgus. (i) Cwiwrmy Hibusewnss srews (i) Fweumiiliywrpluller wHligser
;opmid Cowiwry tibukisefled 2 srer 2 milisefer erapraniisansams srewrs . ( Eg.11.1)
Sirey

(i) g miQeuefl S = {H, T} x {H,T} ={TT,TH,HT,HH}
(ii) X:S — R ersiTug) Ldsefler sTavenstldends 6T6iTds.
X(HH) =0, X(HT) =1,X(TH) =1& X(TT) = 2
X @ wAriyaser 0,1, 2

0, w=HH
2 X(w) =11, w = HT,TH
2, w=TT
(iii)
Foeuriliywmrnuflesr
Huom ) 0 1 2 | Qurssid
wFlliser X
Grirom Uibumiseflsev o sirer
St 1 3 | 1 4
2_milisefleir eTeuTestdenas

2. Fyrewr @) usdLS6T 2 (HLL LILBeusTsds CsmerGeurd X eterug @) usemLuiled FHewL_d@id
sTarsafler Crss 9l B56sTena eresfled (i) gnmiGeuafl (i) X erepud sFweumiitiy wryl erH)EED
waliiyser (i) 10 —@)er Coiwmgy Nibud ,wHauid (V) X-er Cuiwrm UibLgglsy o srer o miliseflsr
sTeRTEwTSema Y Aweunewms srewrs . ( EQ.11.2)

Sirey
(i) smi@auaf S = {1,2,3,4,5,6} x {1,2,3,4,5,6}

@) usmLS6T 6fHDBLITEH HewLd@Gh FnmiGleuefl S
LD A2 a3 a9 d5] d,6

2,1) | 2,2) | (2,3) |2,9]@2,5 ]| (2,6)

3,1 3,2 3,3 [ 3,9@3,5]| (3,6
4,1) | 4,2) | 4,3) 4,9 |@4,5| 4,6

5,1) | (5,2) | (5,3) | (5,4 | (5,5 | (5,6)

(6,1) | (6,2) | (6,3) | (6,4) | (6,5 | (6,6)

(ii) X:S — R ersitug) @) usewL_uiled HlewL &G CrSs Fn L (HH0ISTENS 6T6ITS5.
Fwsaumiiiry) X @)er wdiiyser X = 2,3,4,5,6,7,8,9,10,11,12

(iii) 10 —@)esr Cmirormy LNibLid = {(4,6),(5,5),(6,4)}

(iv)
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FLoeumiiliomluflesr

2/3/4|5/6|7(8[9(10(11|12 AT A0
g1y X
Gmiromm ibLsiseafsv
o 66 o piiyzefleor |1 (23 (4565|432 |1 36
6T 6BIT6WIT 556 5

3. @m mmyuiled 2 Qeusiremear LbgIS6T WHMID 3 Aeuliyls LHFGISET 2 _siTemeT. Fweuriiliy penmullsy epeTmi
ubgset gmiguiledmbs CHTHOSHESLILBBSedTmer . X ereitugl CaibOSHESSILGD  FHauliy
ubgsEafler stawrenfiEensemw GOILUIL LT , Fweumily wry X —@)6rT I HeeTujd j%H6iT
Grirwrm LibusiseflsT eTewremnfldhansenwuj srews . ( Eg.11.3)

Sirey

(1 FmiQeuafl S = {wy,wy} X {ry, 13,13} , n(S) = 5¢, =10
= {W1W21"1,W1W2T2,W1W2T3,W1T1T2,W1T11"3,W1T2r3,W2T1r2,W2T1T3 ,w2r2r3,r1r2r3}
(ii) X:S — R ersitug) CaibOs@EBSLILIGD feuliy LbgEs6i6T eTaisTensibens 6161,
Fweumiiigwry X @)er wgliiyser X =1,2,3
X(wiwary) =1, X(wywyry) =1, X(wiw,rg) =1
X(wyriry) =2, X(wrqr3) =2, X(wqrpr3) =2
X(woriry) =2, X(Worr3) =2, X(warers) =2
X(r1r2r3) =3

(i)

X &1 I H6iT 1 2 3 QT gL

Gmiwrmy Ulbukisefled 2 srer

2_mILILSefeT eTevuTewsldemnds

4. 6 Qeusirswer wHMID 4 HHLIY UbGISG6T CETewTL @riquiled b @) ® LbgIs6r Fweumiiliy wenpuilev]
Caihos®ssliLbElsiper . CaibolsHESLILMBL Qeubleuriy swmiy ubShe@Gn ep 30 Clausvougraeyd
CaihosHss LB aubeurm Ceusitemer LbFSDEGL ¢ 20 Casrhugrseyw ClEmers .CleusVgI
QsrTewsemw X GolusTss Gsresrmey , X —@)er wdlliyseweryyb wHmID yser Cwiwrmif
Uibuisisefesr erevsremiisensenwuid srevwsrs . ([ Eg.11.4)

Sirey

Cwrss ubgisst = 10 (6W ,4 B)

10 ugisanadBhs!, 2 UbgissT TEUETED, N(S) = 10, = = = 45
suminiysesr: 2B, 1B1W ,2W

X:S — R eretrLgy) GleusvgYild O\GTemss 6T6HTS.

@)rer®GL HHLILY LbGIH6T 6Tevfley ,CleusVsyid GlgTemas X =2 X 30 = ¢5.60

2
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2@ SLIL ,1 Ceusiremer eresfled ,Glausbgid GFremas X = (1 x 30) + (1 X —20) =30 — 20 = ¢5.10
@)revrHCLo Qeusiremen Libgis6 sTesflsv ,Gleusvgid Cgmewns X =2 X (—20) = @5.— 40

~X=60,10,—40
4x3

X = 60 eresfley ,CloTS% 2 milisefler sranemfldens = 4¢, X 6¢, == T - =6

X = 10 eraafleb ,0lorgs 2 miliyseafler eTevranfléens = 4¢, X 6¢, = 4X 6 =24

X = —40 erarfled ,Qrgs 2_miliyseflsr ersrenflens = 4¢, X 6¢, = 1 X i—i;’ =15
X &1 wFiLs6iT 60 10 | —40 | Qurgsid

Griwrm Uibukisefld 2 erer
6 24 15 45
2_mILILSefeT eTevTewstlhends

5. X etétrug eypeirm Frrer prewrwbisener @8I FLwWSSY @ PeOD FETHLCLTSH eflupd Lykseflsr
eTevsTeRfldBema er6iTas . Fweumiiliyy wrPlurer X —@)er wHlliysemeruyd ger Coiwrm Lilibumiseflsy
2 grer Leraflsafleir erevsrenilEengsemwuyb srevrs.( EX 11.1)
(i) sami@euefl S = (H,T} x {H, T} x {H,T} = {HHH,HHT, HTH, THH, HTT, THT, TTH, TTT}
n(s) =38
X:S — R ersiTug) Lds6f16T sTavewstldends 6T6iTas.
X -@er Mivud = {X(HHH), X(HHT), X(HTH), X(THH), X(HTT), X(THT), X(TTH), X (TTT)}
={0,1,1,1,2,2,2,3}
-~ X eor w@liyser 0,1,2,3

0, w =HHH
X(w)={ 1 w = HHT,HTH, THH
2, w = HTT, THT, TTH
3 w=TTT
Feumiiliwrnuflesr
Her 0 1 | 2 3 | Qursso

wglliyseir X

Gpiwrgy Uibunisefley o srer

2_milisefler eTeutTetdenas

6. 52 £ (s (smer 2 wLw @ FLOHSS140 BB @)@ FLOs6T Cr FwwSHV Fweuruili]
pempuiled THESILGSSTDET . eueurm TRSSILL L FI (HHer SHLUTEs @) mUiLfler Foeumuiliy
wrlwrer X —@ear wlliyseeruyd ger  Cwiwrm ibukisefley o drer  Lereflsaflsr

sTewsTewtbemsenwiu|ip srevsrs. .( Ex 11.2)

Sirey
ECwrss I Qssr = 52, smpLy = 26 , Asly = 26
52 £ Gaafsfmisl 2 £ @ssr T@LLSTED, n(S) = 52, = ot = 1326

X:S — R erettugy CaiholsH\EsLUBD @) FLBsaflsy 2 srer sy FLHsaflsir eTenTeanilEens eT6irs.

3
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7. 9 smewLulled 5 wrmsafssr wphmib 4 g liilstssT o _srorer .90l BB 3 LBISeT CT FLoWSIH60Y

~X=0,12
@A m FLOsEH0 Feuliy £I_Hs6r steafled (X = 0) ,Clworss sTameniidens = 260, X 26,
26 x 25
=1x 1x2 ~ 325
Qm FL@sefled , 1 Aauliy , 1 s@UY steafled (X = 1) ,Crss sTamenilsans = 26¢, X 26,
= 26 X26 =676
@ m FLOsEHD, sBLUY FLBs6T sTaaflsy (X = 2) ,0wrgs Tavraniisens = 26, X 26,
26 x 25
= 1x2 x1 =325
Fweumii‘iwrmluiler 0 1 2 | Qurssi
g1y X

Gpiwrgy Ubunisefley o srer

325 676 | 325 1326

2_mIlisefleT eTeuTewstdends

Caibos®ssILBSEsTDeT . sueurTn CHTHOSHESILIGLD LIPHIGET QY LILIl6TH6T 6Tesfled FLoeumiiLliL]
wrwrer X —@er wgllysewerwd er  Cwiwrm Libukiseflsy o ster  Lereflsefle
sTewsTewtBemsenwwd srevsrs. .( Ex 11.3)

Firey

Cwrés uynsst = 9, wruseaflssr = 5, gy lillsrssr = 4

9X8X7 _

1x2x3 84

9 uypriseafled(hbgI, 3 LpBISeT TRLILIGTS, N(S) = I, =
X:S — R steitug) G505 HESLILIBID LIPEISaTsL 2_erem 9y liLileTaet s eTavemntldhens 6Teirss.
~X=0123
ApSTMILD WTbLIPEIGST sTeafled (X = 0) ,Corss sTamswiléens = 5¢, X 4¢,
5x4x3

T 1x2x3
2 wribLpiisst , 1 glifler stasflsd (X = 1) ,Qwrss sravranflbans = 5¢, X 4¢, = 10 X 4 =40

1=10

apeiTmitd gy Lifleir stesfled (X = 3) , Qwrgg stawmenfléens = 5c) X 4¢, =1 x4 =4

Fosumiiliompluflesr
0 1 2 3 © TS0
wglliyssir X
Gpiwrgy Uibunisefley o srer
10 40 30 4 84
2 mIliseeT eTevtTewstdends

. 6 Aeutiy womid 8 HwLiL UbGISET CBTERTL (H CETeTHVETeO(BHG B)(h LHHIH6T £rresrpswmuiley
Cahos®ssiubElsTner . Yeueurn CsibOSHGSILMD aubleurm FHeauliy ubdb@n em 15
Ceusveugrasayn Csib6ls@EsslILbBD @Paubeurm smLy ubdnagw m 10 Csrpusrsayn Garsrs
.Geusvgnid Gsrensemw X GOPILLSTSHSE Gl&ETanrLme) , X —@)6r wallisenarujb whHmib ser Criwrmi|
Uibukisefled o srer Lsraflsafler starenfldEamaamwu)n srevrs. .( Ex 11.4)

Sirey
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@wrgs ubgiser = 14 (6 R,8 B)
14x13 —

1x2 1

14 upgIEafed®BBSI, 2 UbgIS6T THLILST, N(S) = 14¢, =
sumiiiyser : 2R, 1R1B,2B

X:S — R et6iTIg) OleusvsyId C\HTeMS: 6T6HTS.

@) et GGl Heuliy LbHF IS6T 6TesfleD ,GleusvgVid Cgremas X =2 X 15 = @5.30

@ Aauiy ,1 sl ererfley ,Cleusvgd Ggmews X = (1 X15)+ (1 x—-10) =15-10 = ¢5.5

@)reTHCL HHLILY LBSIS6T 6Tesflev ,Cleusbgid GgTews X =2 X (—10) = ¢5.— 20

~X=30,5-20
X = 30 ararfled QoSS sTawmsmflsens = 6¢, X 8¢,
6 X5 1=18
= X =
1x2
X =5 erafled ,Clrgs sTavTanflsens = 6, X 8¢, = 6 X8 =48
X = —20 arafled ,Qurgs sramenfidas = 6c, X 8¢, = 1X % =28
FLoeumiiiompluilesr
30 5 —20 | Grgsid
wSlliyser X
Gpiwrgy Uibunisefley o srer
15 48 28 91
2_mILiLSefeT eTevTemthends

9. Ym UsSE LUSML PTHIGT R(H LIESSSV ‘2 * sTarrd GBESLILIL (H6TOTS). D B6T @) renT(® LI%skIs6T 60
‘3 ‘ etewreyid L5 FHpsiTem cpeT LIGBBISETL 4’ eTawTa)b o sTengl .B)(H WM LB (KL L LILBEDS
X ererug @) 2 (HLLVsafle HwLEG0D gl HSBTMSHMT GDSS DG etefler , X —@)ebr]
wSlliysenerud wHmid Hger Criwrm Libunkiseaflsy 2 srer Lsiraflseflsir 6TaiTennildbam&EmMWILLD & T80T,
.(Ex 11.5)
Biray
usenL_uied Goev 2 _erer stevorsst  2,3,3,4,4,4
X stetTugl LSHLeDW @) (pewm 2 HL(HCLTG SlewL_dEG LD 6TewTa6il6T Fn L (HS 0B TENS
6T6HTS5.

(i) FmmiQeuefl S = {2,3,3,4,4,4} x{2,3,3,4,4,4}

+ 2
2 4 5 5

3 5 6 6 7 7 7
3 5 6 6 7 7 7
4 6 7 7 8 8 8
4 6 7 7 8 8 8
4 6 7 7 8 8 8
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9L L_susmesnruiled b ,

FloeumiiLiompluflesr
4,5/ 6|7 8| Oursshd
gl seir X

Gmiromm ibLsiseafsv
o erer 2 miiysefler |14 (10129 36

6T 6BIT6WIT 56 5

FLoUMILIL] LT M) &6

1.geflBlensy Fweumiiliy wry) ( eTeasenTdS5%5 jemensy )

2.QgrLirFflwrer FweumiiliL ory)

10. @) premwrwmser Gr FwwWHSl gevry el LiL@GSsarmer . ( m £rrer Brewrwbd @)@ oD Jrevorig]
ol Cu@Beush@ FLWLTRTS ) .SlWL_G& HMaVHETl6T 6TewTenllEmBHES@ BEPSH6 BleODIFTITL] SIS .
(Eg.11.5)
Sirey
smiQeuafl S = {H,T} x {H,T} = {TT,TH,HT, HH}
X:S — R er6iTLIg SemevserlaiT sTavTamtdendenl @&Mld @D FoeumiliL] r) 6TeiTs.

Mous = {X(TT),X(TH),X(HT),X(HH)} = {0,1,1,2}

~X=0,12
PX—()—1 PX—1—2 &PX—Z—1
:(_)_Z’(_)_Z (_)_Z
P&EPSEe| Blewmsamiy
Fwsumiiliwrmluflesr
Hioms) 0 1 2 AT ¥ A1)
wglliyssr X = x
1 2 1
X=x)=fXx) m 2 B

1. @) Frrer usewL 6T @m WPewm 2 (HLLILGESTDET .SlewL 5B BT6iTEHBET6T 6TT6wTdb6m 5% T6wT|
B&1p556) BlennaariL srevsrs .( Eg.11.6)
Sirey
smiQeuefl S = {1,2,3,4,5,6} x{1,2,3,4,5,6}
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@)/ usmLB6T 6fHIDBLITE HewLdGl FnmiGleuefl S
a1y |@@,2)| 1,3 [1,49,(@1,5 | (1,6)

2,1 | 22| 23 24925 2,6

3,1 3,2 3,3 |3,49]@3.,5 | 3,6
4,1)) | 4,2) | 4,3) | (4,9 | (4,5 | (4,6)

G, | 6.2 6,3 |G| G5 5,6

(6,1) | (6,2) | (6,3) |(6,4)(6,5) | (6,6)

X:S — R ersiTug) SlewL_&% BT6TSH61165T 6TeOTEUw BN 6T6T .
Fwsumiiiywrpluller wgliyser X = 0,1,2
Hagsas) Heopisriy

FLosumiiliompluilesr

0| 1 2 AN ¥
wHlliser X = x TR

2510 | 1
PX=x)=f(x) 36 |36 | 36 1

12. sweumiiiy wrp) X —@)er Blaspssey Blewpdariyy f(x) ererug)

X 1 2 3 4
1 5 5 1

X — —_ O —
f® 12 12 12 12

etesflev (i) 9BeiT GHalley Lireusy Friry srevsrs . et cypeviors (i) P(X < 3) wopmud (i) P(X > 2)
g Flweunenmd srewrs . ( EQ 11.7)
Firey
(i) @alley LTeus) Fmiry
Fx)=PX<x) = insxP(X < x;)

F(l)=P(X£1)=P(X<1)+P(X=1):o+%=i

1 5 6 1
F2)=P(X<2)=P(X=1)+PX=2)=—+—=—=—
(@) =PX<2)=PX=D+PX=2)=—+—=—=>

1 5 5 11
F3)=PX<3)=PX=1)+PX=2)+P(X=3)=—+—+—=—
(3)=P(X<3)=P( )+ P( J+HPX=3)=—+o+o ==
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1 5 5 1 12
F4)=PX<4)=PX=1)+PX=2)+PX=3)+PX=4)=—+—+—+—-=—=1
4) = P( ) = P( ) + P( ) + P( )+ P( R TRETRETRETIET

sterGeu @ ailey LITeusy Fmiry

0,—-0o<x<1
L1<x<2
12

Fx)={ -2<x<3

11
—,3<x<4
12

1,4<x<o

(i) PX<3)=F3)=-
(i) PX=2)=1-P(X<2)=1-PX<1)=1-F1)=1-—=—
13. @i mi LEs uswLuleT @ UEsSSV 1 eTar GPGasLILIGADS .9B6T @)h UssEISaTID 2
oTeorayld SHupeTer cpSTm uUSsEIGeTL 3 eTemayd GPGSLIUBSEDG @) BHYHD LS
2 L U@ EDg.@)mupenm eTrlsedlsr Clorss CsTenseww X &DlsSng sTevflsv
()Pspssey Benma Friry srevrs. (i) @alley ureusv #riy srewrs (i) P(3 < X < 6) sreaws
(iv) P(X > 4) srews. (Eg 11.8)
ey
usenL_uied Gev 2 _erer stawstser 1,2,2,3,3,3
@ miQeuafl S ={1,2,2,3,3,3} x{1,2,2,3,3,3}
X:S — R ersitug) @) usewL_uiled HewL_&@GH Grss gn L (HH0STENS 6T6TS5.
+ 1 2 2 3 3 3
2 3 3 4 4 4

Jay

2
2
3
3
3

o R W W
vi| 1| | | s

4
4
5
5
5

SN & & 1|
SN & & 1|
SN & & 1|

X—sir wAiyser = 2,3,4,5,6

P(X=2)=%, PX=3)=— P(X=4)=;—0

—5) =21 =6)=—
— . PX=5)=2, & PX=6)=_

3
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(i) B&EDPS5Ee| Blewn FriL

X
4 | 5
f(x) 1 | 4 | 10 |12 ] 9
36 | 36 | 36 | 36 | 36

(ii) @alley LTes) Fmiry

F(x) = P(X < x) = Z P(X < x)

XisX

F(Z)=P(X§2):P(X<2)+P(X=2):o+%=i

36
F(3)—P(X<3)—P(X—2)+P(X—3)—1+4 >
B %0 B T 736 36 36

1 4 15 15
FA)=PX<4)=PX=1)+PX=2)+P(X=3)=—+—+—=—
(4)=P(X<4)=P( )+ P( )+ P( ) S5 2t 36 = 36

F(5)—P(X<5)—P(X—2)+P(X—3)+p(X_4)+P(X_4)_1+4+10+12 27
) o ) - p G ~ 773636 36 36 36

1 4 10 12 9
F(5)=P(X<5)=PX=2)+PX=3)+PX =) +PX =) + PX =5) =+ -+ —+_—+_

36

1

sTerGeau @ailey LITeuev &miry

0,—-oc0o<x<?2
1
—,2<x<3
36

2 3<x<4
36
F(x) =A< s
—,4<x<5
36

27
— 5<x<6
36

1, 6<x<»

(i) PB<X<6) =PX=3)+PX=4)+P(X=05)
_ 4,10, 12 2
T 36 36 36 36
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(V) PX=24)=PX=4)+PX=5+PX=6)=_+_+_==
14. @i 9m1 L&5E LsHLUWIEST @@ UGBSV ‘1" eTar GPGsLILIGADSI 6T @) LSsHISaAgID ‘3

eTestayld LHupeTer cpeTm USsHIGeTlY | S erereyd GPGSOIUGSDGZ .G BHdD USHL

2 L L UG Ensl.@)mupenn eTrilgedlsr Clorss Csrenseniw X &DlsHSng sTevflev

(ii) B&1p556 Blenps Friry srewrs. (i) galley ureaiev sriy srewrs .(iil) P(4 < X < 10) srews

(iv)P(X = 6) srews. (Ex 11.2-2)
Sirey
usenL_ulle Guoev 2 _sirer etawrser  1,3,3,5,5,5
(ii) @ miQeuafl S = {1,3,3,5,5,5} x{1,3,3,5,5,5}

X:S — R srsitug) @)h usemLulled HewL_&@Hb Crds 9n L (HH0STEMNS 6T60TS.

+ 1 3 3 5 5 5
1 2 4 4 6 6 6
3 4 6 6 8 8 8
3 4 6 6 8 8 8
5 6 8 8 10 10 |10
5 6 8 8 10 10 |10
5 6 8 8 10 10 10

X—sir wgliyser = 2,4,6,8,10

1 4 10 12 9
PX=2)=_ , PX=4)=—,PX=6)=_, PX=8)=_, & PX=10)=_

(i) Hspsse Heop smiy

X
6 8 10

f(x) 1 4 10 12 9
36 36 36 36 | 36

(v) G@alley LITelsy FriLy

F(x)=P(X < x) = Z P(X < x,)

XisXx

10

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com


www.Padasalai.Net

www.Padasalai.Net www.TrbTnpsc.com

F(2)=P(XS2)=P(X=2)=%=%

F(4)=P(XS4)=P(X=2)+P(X:4):%+%=3_56

1 4 10 15
F(6)=P(X<6)=PX=2)+PX=4)+P(X=6)=—+—4+—=—
(6)=P(X<6)=P( )+ P( )+ P( ) =ttt oo

F(8) = P(X<8) = P(X=2)+P(X=4)+P(X =6) + P(X =8) = — 4 -~ 0 12 _27
Q00 )t - N _36+36+36+361_3% o o
F(10)=P(X<10)=P(X=2) +P(X=4) +P(X=6) + PX =8) + PX =10) = —+ —+ — + — + —
(10) = P(X<10) = P(X =2) + P(X = H) + P(X = 6) + P(X = 8) + P(X = 10) = — + =+ — + —+ —
==

1

sTerGeu @ailey LITeuey &Fmiry

0,—oc0o<x<?2
1
—,2<5x<4
36
5
—,4<x<6
36
F(x) =<

15
—,6<x<8
36

27
— 8<x<6
36

\1, 10 <x <

(i P@A4<X<10) =P(X=4)+P(X=6)+P(X=28)
4 32 12 6

36 36 36 36

10 12 9 31
PX>6)=P(X=6)+P(X=8)+P(X=10)=124+24 > -2
15. £C Qar@ssiiul_Rsrar Galley ureusd Friy F(x) — @ler seflBlewsy Fweumiiliy wrp X —ufler

Bl&BSEH6] BlewnEFTTLIH6TdS & ToTS .

(0, —co<x<-2

0.25, 2<x<-1

F(x) =<0.60, -1<x<1
0.90, 0<x<1
1 1<x<om
Gugid .(i) P(X < 0) wmmub (ii) P(X > —1) sresrs. (Eg 11.9)

11
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Firey
SestiBlewey Fweumiitiy wry) X =-2,-1,0,1

f(-=2)=P(X=-2)=F(-2)—F(-27)=0.25-0 =0.25

f(-=1) =P(X=-1) = F(-1) — F(-2) =0.60 — 0.25 = 0.35
f(0)=P(X=0) =F0)— F(-1) =0.90—-0.60=0.30

f()=P(X=1)=F(1)—F(0)=1—-0.90 =0.10

B&PS5Ea| Blewp FrirL
x 2 | -1 o y | Corssh
f(x) 025 | 035 | 0.30 | 0.10 1

()P(X <0)=P(x=—-2)+P(X=-1)=0.25+ 0.35 = 0.60
()PX=>-1)=P(x=-1)+PX=0)+PX=1)=0.35+0.30+0.10 = 0.75

16. @ saflBlens Friy X — 6T Ba1pss6 Blewn FriUTaTg

X 1 2 3 4 5 6

f(x) k 2k 6k | 5k | 6k | 10k

aefled .(Y)P(2<X<6) (i) PRQ<X<5) (v) P(X<4)(iv)P(3<X) ersirLicupenps
sreiws. (Eg 11.10)
Sirey
X 9m ¥apssey Blewm Friy = ) f(x) =1
:k+2k+6k+5k+6k+10k=1=>30k=1=>k=%

.(i)P(2<X<6)=P(X=3)+P(X=4)+P(x=5)=6k+5k+6k=17k=¥

i) P2 <X<5) =P(X=2)+P(X=3)+P(X=4)=2k+6k+5k=13k =

iii)P(Xs4)=P(X=1)+P(X=2)+P(X=3)=k+2k+6k+5k=14k=§

21
(iv)P(3 <X) = P(X >3) = P(X =4) + P(X = 5) + P(x = 6) = 5k + 6k + 10k = 21k = -

17. epeirmy  Fomesr  prewrwmisst  @Cr GCErssled  swrLLLBSSTHT.SwL GG  Hemevseafls
TEUSTEUsT M S HTRT BlHLPSH6 Blewm&eriLilenesrd srewrs . (Ex 11.2-1)
Firey
(i) CLPGITM) [5TGWT W BISHEHET &FHeusT(HILOCLITG dn MG euef]

S={H T} x{H T} x{H, T} ={HHH HHT,HTH,THH, HTT, THT, TTH, TTT}
n(s) =28

12
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X sreitig) Heni_d@i Semevsssin srairamilieme srsirs.=> X = 0,1,2,3
f(0O)=PX=0) =% {TTT}
fO)=PX=1)= % (HTT, THT, TTH)

f1)=P(X=2)= g (HHT, HTH, THH}
[®)=P(X=3)=2 (HHH)

~P&PSHa Blewp FTiL|

fx) =

18. waesr HMID 1EHEHEE FLOTUILIL BlSDSH ST 616 %(hF 4 GHYPHwSBH6T ClbTasL @h & B LDLISIS 6V
2 66T LDE6THATI6H 6T6RTeNTHMESE BlsPsHey Blewmasridlensrun, @ailey ureusd gFriLlemesruyb

smevoras . (Ex 11.-2-3)

Sirey
Sirey
n(s) =2*=16
X etedTLIZ &BIOLISS6D 2_6iTar Lo&6iTHeT6oT eTevwTewildbens eTeras.— X = 0,1,2,3,4
P(x=0)=0_1
-7 16 16
Px=1=ta_*
77716 16
Px=2)=26_0
X 4_ 164_ 16 A
C3 1
P X = = = —= —
X=3)=16~16" 16
4c, 1
PX=% =76 =16
B&psEe| Blewm Fri
x 0 1 2 3 4 (- SNeIBBLD
1 4 6 ) 1
f(x) 16 | 16 | 16 | 16 | 16 1
@aflay Ligas) Frit)

F(x)=P(X < x) = Z P(X < x,)

XisX

13
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F(O)=P(XSO)=P(X=O)=%=%

1 4 5
F1)=PX<1)=PX=0+PX=1)=—+—=—
(1) = P( ) =P( )+ P( )16 656

F(Z):P(XSZ)=P(X=0)+P(X=1)+P(X=2)=%+%+E=£

1 4 6 4 15
F3)=P(X<3)=PX=0)+PX=1D+PX=2)4+PX=3)= —+—+—4—=—
(3) =P( ) =P( )+ P( )+ P( )+ P( )=16t16t 161 16~ 36

1 4 6 4 1
= < = — = = = = - — g — 4 — Y — 0 —
F(4) = P(X < 5) P1(6X 10) FPE=D+PE=D+PE=3)+P(X=4) = —+—+—+—+—

16

sTerGeu @ailey LITeusv Fwiry

1 5 [ 11 | 15 | 1
F(x) 16 | 16 | 16 | 16

19. e sevflBlewsv Fweumiiiy wryP! 0,1 wHmd 2 wFiysemear I HIGW Cl&TETEHLD 6T6ITS.

( x2+1
|

B x=0,12

fx) = { 0 , X — @)sir LApwoSiL)%sem4E
6TET U TWMIGSLILL L B&DSHe] BlenndFritlng, ,

(i) k-@)ssr wluy (i) gelley ureusv sriy (i) P(X = 1) gdlweupenmns srevrs . (Ex 11.2-4)
Sirey

X=012
0+1 1 141 2 441 5
fO==—7=2,f)="1=7 &f@)=—==1
Blspssea) pleop FriL
X 0 1 2
1 2 5
fx) % % x

X — 9n pspssey pleop Friy = Y f(x) =1
+2=28-15k=8

1
- —
k+ k k k

&N

14
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@eflsy Ligars) Frity

F(x) = P(X<x) = Z P(X < x))

XisX

F(0)=P(X<0)=PX=0) =~

1 2 3 3
F1) =PX<1)=PX=0+PX=1)=—-+-=—-=-
(1) =P( ) =P( )+ P( ) ot k1 IE g )
F2)=PX<2)=PX=0+PX=1)+PX= ):E E+E=E=1
=¥%=1
16
sterGeu @ ailey LITeusy Fwiry
r 0, x <0
%, 0<x<1
F(x):<3

= 1<x<?2

8

1, 2<x<»

(iii)P(XZ1):1—P(X<1)=1—P(XSO)=1—F(0):1—1=g
20.
( 0, —o<x<—1
0.15, —-1<x<0
0.35 0<x<1
F(x) =4
0.60, 1<x<?2
0.85 2<x<3
\ 1 3<x<

6TETLIGI (15 HeufBlewsy Froeumiiliy wrMluiler @alley Lreue) FriLy srevflev
(i) Bla&pssey plewma griry (i) P(X < 1) .(iii)) P(X = 2) srewrs. (Ex 11.2-5)

Sirey
sestiBlewey Fweumii'iy wry X =-1,0,1,2,3

f-1)=PX=-1)=F(-1)-F(-1)=0.15-0 =0.15
f(0)=P(X=0)=F(@0)—F0 ) =0.35—0.15 = 0.20
f(1)=P(X=1) =F1)— F(0) =0.60—0.35=0.25
f(2) =P(X=2)=F(2)— F(1) = 0.85—0.60 = 0.20
f3)=P(X=3)=F(3)-F(2)=1-0.85=0.15

15
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B&EDS5Ee| Blewn FrirL

x -1 1 1 2 3

f(x) 0.15 | 0.20 | 0.25 | 0.15 0.15

()PX<1)=P(x=-1)+P(X=0)=0.15+0.20 = 0.35
()P(X=>2)=P(x=2)+P(X=2)=0.25+0.15 = 0.40
21. @m Fwaumiiiiy wrY! X -&@ Bls1ps556 HlevpFriurarg
X 1 2 3 4

5

f(x) k2 2k2 | 3K?

2k 3k

(i) k-@eir walriy (i) P(2 < X < 5) (iii) P(3 < X) gyfwenhennd sreiws . (Ex 11.2-6)
ey
fX) - @ Pspssey ploop sriy = Y f(x) =1
>k +2k*+3k*+2k+2k=1=6k*+5k=1=6k*+5k—1=1
=k=:,-1=k=: (>0
(PR2<X<5=PX=2)+P(X=3)+P(x=4)=2k*+ 3k* + 2k = 5k* + 2k
5 2 5+12 17

366 36 36 :
(iv)PB<X)=P(X>3)=P(X=4)+P(X=5) = 2k + 3k = 5k =

22
0, —0<x<0
1
-, 0<x<1
2
3
i 1<x<?2
F(x) =4 ~
-, 2<x<3
5
i 3<x<4
10 =%
\ 1 4<x<om
TTLIZI (1 SevfiBlewsy FroeumiiliL] wrmluiler Gealley Lireie) FriL] sTevflsv
(ii) Blapssey Blevmnd griy (i) P(X < 3) .(iii)) P(X = 2) gydlweaupenms srevrss. (Ex 11.2-7)
Sirey

SesflBlemev Fweumiiiy wrP X =0,1,2,3,4

f(0)=P(X=0)=F(0)-F0 ) =--0

16
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f)=PX=1) =F(1)- F(0) =
f@)=PX=2)=F@2)-FQ1) =

3
5
4
5

fB)=PX=3)=FQ3)-F2)=2-1--=2==

10 10
9 1
f@)=PX=4)=F4)-FB)=1-_=—-
B&1p556] Blenp Frir

x 0 1 2 3 4

s | L | 2 | 1 1

f(x) 0 | 10 | 10 | 10 10
. 5 1 2 8 4
(MPX<3)=Px=0)+PX=1+PX=2)=+_+—-=—==
; _ _ — —qy=2_ 1t 1 _4+_2
(PX22)=P(x=2)+PX=3)+PX=4) =+ -+—-=—=-

23.
[ cx? 1< X<4
f&x) = ! 0 , x — Gar Lpwiysenég THID &I @O HEPS56e)

LT &S FmirL ertevtlev , rmMled) ¢ —@)6dr W1 &mevwras . Guogyid i) P(1.5 < X < 3.5) (i) P(X < 2)
(iii) P(3 < X) g Sweupewms srevwras. (Eg 11.11)
Sirey
c =2
f(x) 9 Pspssey SLisIsF Friy = fjooo fx)dx=1
= fl f(x) dx + fff(x) dx + f:of(x) dx =1

i) P(1.5 < X < 3.5) =2
P(1.5<X<3.5) = ffff(x) dx = ff;cxz dx = 211 f13'55 x?dx =

3] 1 (3 5)3 (1.5)3]

395 _ 395 _ 79
63 636 126

= 513 [42.875 — 3.375] =

(i) P(X < 2) =2
17
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312

P(X<2)—f2 2 4 _1f2 2 4 1 x _1[8 1
=Y ), T T3] T21l3T s
__7 _1
T 21x3° 9

(i) P3 < X) = P(X > 3) =?

R _ 14 o _1 _ 1 [64 27] _ 37
P9 = extax =48 2 ar =4[]~k [2-5] -

x—1, 1<x<?2
24, f(x)= <« —x+3, 2<x<3 )
0 , x-— @erpwdliysesss
etesrLigy) Fweuriitiy wrm X —@)er Blapsse) SLisdls Friy f(x) ereflsv (i) ureusv gmriy F(x)
(i) P(1.5 <X <2.5) gFlweaupemms srewrs . (Eg 11.12)
ey
ureued ey F(x) = P(X <x) = [*_f(w) du
1) x<1= Fkx)= ffwf(u) du=0
2 1<x<2= F@=[" f@du=[_fwdu+[ fwdu

+f1f(u) u fl(u 1) du
N (u—1)2]"_[(x—l)Z_O]_<x—1)2

2
3) 2<x<3 = Fx)= f_xoof(u) du = f_loof(u) du+f12f(u) du++f2xf(u) du

=O+f2(u—1)dx+fx(3—u)dx
[ o] - B ol + [ - [ - -0
@ x>3 = Fo)=[_fwdu= N S du+ [] f(u)du++f3f(u)du+f3xf(u)du
—0+j(u 1)du+f(3 u)dx+f0du

[ e < o)+ fod) <

~ ugeued &riry F(x)

0, —o<x<1
—1)2

(x ) 1<x<2

F(x) = 2 ,

B—-x)
1- > 2<x<3

k 1 x=>3
(iii) P(1.5<X<2.5)=?
Pla<X<b)=F(b)—F(a)
18
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P(1.5<X <2.5) = F(2.5) - F(1.5) = [1 - @]x - [““Z—l)z]ms

(3-2.5)%2] [(1.5-1)? (0.25)] 1(0.25)
=[1_ . ]—[ . ]:[1— . ]—[ : ]:1—0.25:0.75

25. o Fweumitiy wrm) X —@)er Lreusv Friy F(x)

0, x<0
F(x)= {x, 0<x<1 eraflsd )
0, 1<x

(i) Pspssey LisHd riyy f(x) (i) P(0.2 < X < 0.7) g flwapenms sressrs . (Eg 11.13)
(i) P(1.5 £ X < 2.5) gy dlwaipenps srevwrs . (Eg 11.13)

Sirey

2@ Qsrisflwrer Fweumiiiy wryl X —er ureusd Friy F(x) eresflev f(x) = F'(x)

0, x<0
fxX)=F'(x)= <1, 0<x<1 p
0, 1<x

Bspssey LisHi sy f(x)

0<x<1

1,
= f(x) = 0, X @)oot LAmioFliL s end% S

(ii) P(0.2<X<0.7)=F(0.7) —F(0.2) = [x]g7 — [x]p2 =0.7—0.2 = 0.5
VNG
0.7 0.7

P(0.2<X<0.7) = f(x)dx=f 1dx=[x]37=0.7-0.2=0.5
0.2 0.2

26. @M Feumiiliy wrm X —@)er B&psHe] L THHF Friy

1< x<5

LA oS5 e e, ) sTeofled

fo =1y
(i) wreuev amiy F(x) (ii) P(X < 3)(iii)) P(2 <X <4) (iv) P3 < X)ydlweuhewmsd srewra . (Eg 11.14)
Firey
k =?
f(x) o Pspsse SLisHs Friy = f_oooo fx)dx=1
= f_loof(x) dx + flsf(x) dx + fsoof(x) dx=1

5
=>fkdx=1=>k[x]i=1
1
=k[5-1=1=4k=1=k=;
. RSO 2 1< x<5
“BIspsEe] LTSI Friy f(x) = 4 , , ’
0, Lg% epss
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ureusy smiry F(x) = P(X <x) = [*_f(w) du
(1) x<1= Fx)=["_fwdu=0

@ 1<x<5= F@=[' f@du=[_f@)du+[]du

1

=o+%f: du = [ulf = 7 [x— 1]

1
4

@) x>5= F)=[" fwdu=['_fadu+ [ f@ du+ [} fwdu

1 51 X X 1 : 1
:f_OOOdu+Lde+f50du=f1 duzz[u]1=1[5—1]=1

" ugeusv Friry F(x)

0, —o<x<l1
1
F(x) = Z(x_l) 1<x<5
1 x>5
(i) P(X<3)=P(X<3)=?

F(x) = P(X < x)
P(X<3)=F@3)= E(x_l)]ng =[f@-v]=12

(i) PR<X<4)=PR<X<4)=F@4)-FQ2)=[;(x-1) =4—E(x—1)] _

[a-n|-fe-v]-2-1-2

(V) PB<X)= P(X>3)=1— P(Xss)_1—5=§
27. @m DSTFTSHTSISOT QYU STVSMSSE GHMI& G0 Fwaumiiliy wry X —B)er Plspssey L THI)F
. ) ke %, x>0 y
i () = {0 Gy ey

(i) k-@)ssr wFiy (i) wreusy gmriy (i) P(X < 2)(jii) P(2 <X <4) (iv) X — &1 ge»pHsLL_FLD
BresTE ChroVGHEhssTar Blapssey (V) P(X = 3)gfwaihenns srewrs . (Eg 11.15)

girey
Sirey
k =
@) 5o Bopssny i sriy = [7, f() dx =1
= [° f@dx+ [ f@dx=1
e—Zx © e_zx 0
ﬁfkezxdx_lﬁk[ ] :1=>k[ ]
k 0 e~ =
- Ppsme) SLisHs sy () = {2€ x>0 ,

0, x<0

20
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ureusy smiry F(x) = P(X <x) = [*_f(w) du
(1) x<0 = F=[_fwdu=0
2 x>0= F(x)=f_xmf(u) du=f_ooof(u) du+f0x% du

¥ e ™" 2 —2u]X —2 0
=0+2f e 2udu=2 =—|e "]0=—[e * — el
0

-2 0 -2
=[1-e7%]
" ugeusv Fmiry F(x)
0, x<0
Fx) = 1—e %% x>0 '

(i) P(X<3)=P(X<2)=?
F(x) = P(X < x)
PX<2)=F(2)=[1- e-z’f]x=3 =1—-e*

(iv) X — et @ewmbsUL_F1D BreiT@ CBHIrIeV&EBEHEHSBTET BlEHDSS56
PX>4)=1-PX<3)=1-F@4) = 1—[1—e-2x]x=4= 1-[1-e8]=e?

(V) X @arigflwrer Fwsuriitiy wrpg = P(X =3) =0

28. Fweumiili) wrm) X —@)\6r BlEDSH6Y L TEHIF FTiL

_ ) kxe™®, x>0 3
fx) = 0 o sTeutleD
k-@eir iy wHiy srewrs . (Ex 11.3-1)

Firey
kK =?

f(x) @ Pspssey SLisIHEF Friy = fjooo fx)dx=1
= [° fedx+ [ f@)dx=1

°° 1!
= kj xe?* dx=1=k [-]:1

22

0

k=4

29. sweuminiy wrm) X —@)6r Bl&pSH0] L THBHF Friy

X, 0<x<l1
f(x)= <{2—x, 1<x<2 gafls )
0, LAl seps e

(()P(0.2 < X < 0.6) (ii) P(1.2 < X < 1.8) (iii) P(0.5 < X < 1.5) syflwaihemns srevrs . (Eg 11. 3-2)
Firey

() P0.2<X<06)= [, fx)dx= [ xdx= [g]:: = 2[(0.6)2 - (0.2)?]

21
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=§[0.36—0.04] =

N | =

[0.32] = 0.16

(i) P(L2<X<18) = [[7f(x) dx = [;(2 - x) dx = [2x — %Z]i: =~ [4x - xz]i::

2
1
=5 {[41.8) - 1.87] - [41.2) - 1.2)?])

:1{[72 3.24] — [4.8 — 144]}—1[396 336]—%[060]—03
(i) P(0.5 <X < 15) = [[7f(x)dx = [ xdx+ [/ "2 -x)dx =5 ] +[zx——]i5

18
- ["?]0.5 +>[4x - K] =3 [1-(0.5)2] +5{[4(1.5) - (1.5)?] - [4 - 1]}
=%[1—0.25+6—2.25—3] ==%[4—2.50] =%[1.5] = 0.75
30. @ urw allhusaTwssizled aflalGurdléssiu@b uredlsT yerey Fweumiiliy wrm) X erers.
@phHs g 200 0l Liser whmib HyFls Ll Fibd 600 Ol L s enLer BlEp5560) L TEHSF

. k, 200 <x <600
gmiy f(x) = 0, . . ,

LD oS5 65 e
(i) k-@)esr iy (i) ureusv &miy (jii) 300 efl_Liser wHmib 500 L s @psdlenL_Guw gleraifl
aflhuevest @)HLILSDSTRT BlEHDBHH6 Y weunHewnd srevsrs . (Ex 11.3-3)
Sirey
(i) k =?

f(x) o Pswsse SLisds Friy = foo fx)dx=1
= [P f) dx+ [ f() dx = 1

600
kfzoo _1:>k[]ggg_1

" =T
k(600 —200) =1 = 400k =1 = k =

(i) LIT6u6D FTirLy
uyeusd gy F(x) = P(X < x) = [*_f(u) du
() x<200= Fx)=["_0du=0
(i) 200<x<600 = F(x)—f f(u) du=["_ Od +f200kdu

g f du— L s, X200
200/, ‘"~ 200 = 7400

200

200

600
0du+ fm

1
600
=——[600-200]=1
[u]zoo 400[ ]

(ivy x>600 = F(x) —f fwydu=["_
1 600 1
=200 ),5, M~ %00

kdu+ [}, 0du

. ureued Fmiry F(x)

0, x < 200
x—200
F(x) = <
(x) 200 200 < x < 600
1 x > 600

22
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31.  Fweumii'i) wrm) X —@)\6r BlEDSH6Yy L TEHHF FTiL

— k —§, >0 , .
fx) = 0, € xxSO sTevfled
i) k@ wdoy (i) ured eriy (i) .PX<3) (V) PG<X)
Y Fweunennd srewrs . (EX 11.3-4)
Firay
i) k& =2
fx) onBspsse gishs sriy = [ f(x)dx=1
= [° f®dx+ [ fx)dx=1

© x 2 x40
=>f ke3dx=1=>~k—1 =1=>3k[e3]
0 Yo Xl [ee)
31y
=3k[e®—e ] =1=3k [1-]|=1=3k[1-0] =1
k_1
3
. ) PP . . le_g, x>0
~PEPSE LTSS Friy f(x) = 3 ’
0, x<0

ureusy smiry F(x) = P(X <x) = [*_f(w) du
() x<0 = F(x)=/"_0du=0
(i) x>0= F®=[" fa)du=[’ f)du+ [ iesdu

ux
1% _u 1|le 3 3 u X x
= — 3 = —|— = — - = — 3 _ el
—0+3f0e3du 3[_1 _3[e 3]0 [e3 e]
0 x
[1-<7]
" ugeusv Fmiry F(x)
0, x<0
F(x) = _x ’
1—e 3, x>0
(ii) P5<X)=P(X=>5)=?
x 5 5
P(X25)=1—P(X<5)=1—F(5)=1—(1—e‘§) _=1-1+eT5=e7s
X =
x 4
(iii) P(X§4):F(4)=[1—e_§] =1-¢73
x =4
23

V)P(X < 4)
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32. sweuminiy wrm) X —@)6r Bl&pSEe] L THHF Friy
x+1, —-1<x<0
fx)= { —x+1, 0<x<1 ,
0

, X — @er LApwIlisenss
(i) wreuev #riy F(x) (if) P(—0.5 < X < 0.5) gydlweupenms srewrs (Eg 11.3-5)
Siray
ugeuev Friry F(x) = P(X <x) = f_xoo f(w) du
(1) x<-1= F) = f_xoof(u) du=0
2 -1<x<0= F=[" fdu=[_f@du+["(u+1) du

2 X
=0+ u—+u
2

el =2 v 2w - a-2)
-1
=2 [(* +2x + 1] =(x+2—1)2

(B) 0<x<1= Fx)=[_fwdu= f__;Odu+f_01f(u) du+f:f(u) du

-1 0 X
=f 0du+f (u+1)du+f(—u+1)du
—00 -1 0

W 2 '
—TUu — T Uu
2 2

=0+

1 0 1 x

i Py T [a,2
, O—Z[u +2u]_1+2[u+2u]0
=lo-a-2+(xt2x-0)) =12

2
4 x=>1= Fkx) = ffwf(u) du = f__;Odu+f_01f(u) du+f01f(u) du+f1xf(u) du

-1 0 1 x
=f 0du+f (u+1)du+f(—u+1)du+f0du
—oo -1 0 1

u? ! —u? 1 1 0 1 1
_ _1ra L )
_0+—2 +u_1+[—2 +u0+0—2[u +2u]_1+2[u+2u]0
=2[0-(1-2)+(-1+2-0)]=>=1

. ugeusv Fmiry F(x)

( 0, x <1
x + 1)2
( 2) -1<x<0
F(x ={
() 1—x%+2x
l# 0<x<1
1 x=>1

(i) P(-0.5<X<0.5)=F(0.5) —F(—0.5) = [1—x2+2x] w [1_x2+2x

2 2 ]x =-0.5

24
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3 [1 —(0.5)2 +2(0.5) [1 —(=0.5)%2 +2(-0.5)
2 2 x=-05
[1 (0. 5)2+2(0 5)] [1 (- 05)2+2( 05)]
[1 025+1] [1 025 1] [2—0.5]_1.5_075
A 2 2 L2 ~ 2.0\0
33.  Fweumiiiiy wry) X —@)esr Lireusy Fmiry
0, —o<x<0
F(x) = %(x2+x) 0<x<1 ) sTeuflev
1, 1<x<o

() Paspssey 9Lisdls sriy f(x)(ii) P(0.3 < X < 0.6) g Slwaupenps srewrs (EQ 11.3-6)

Sirey
() Pepssey gissls sriy
0, —00<x<0
fO=F@={7@x+1) 0<x<1 :
0, 1<x<o

(i) P(0.3 < X < 0.6) = F(0.6) — £(0.3) = 2[(0.6)% + 0.6] — 2 ([0.3)? + 0.3]
[0.96 — 0.39] =17><o.57 =0.285

N =

1
= [0.36+0.6-0.09-0.3] =

34. S PpsHTEWID FTIL P@H BHPSHe] Blewm FriLlensrd @&plESDaI 616515
X 1 2 3 4 5 6

fx)=0 c? 2¢? 3c? | 4c? c 2¢c

c-@eor iy (i) #rred whmib ureupLy SweuhHewme sresras . (Ex 11-16)
Firey
f(X) - 86 papssey paop sriy = Y f(x) =1

=2 4+2+3%+4+c+2c=1=10c*+2c—-1=0
1 1

—= C = EOT—E

o= 1
SN C = 5

25
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(iii) #rmed wHmID LreubHLIg

35.

x f(x) xf(x) x%f(x)
1 — % %
25
2 2 4 (&
> 25 25
3 27
3 A€ _ =7
25 25 25
4 16 64
4 _ - _
25 25 25
5 1 5 25 25 125
5 5 25 5 25
P 2 12 60 72 360
5 5 25 5 25
115 585
x)=1 Zx X)) =— sz X)) = —
> @ £ = fo0) =2

grmefl E(X) =Y xf(x) = =46

25

ureuprig V(X) = E(X?) — (E(X))* = X 2*f(x) — (T xf (x))?

585 (115

2
= —— —) = 23.40 — 21.16 = 2.24
25 25

8 Qeusiremer HmID 4 HHLIY LBGIS6T CETeRTL FnewLulled(BHBg @)H LbGIBeT Fweuriiliy penmuilsd
CaibesBssLBSearner . CasibesBESSLILBD paibeaur®m Smly ubsnen o5 20 Geusvsid
Cithel5BdEs LG LGIDSD
QaTewswrsayh C&ETsrs rgliuTissiu®L Ceused G\sTems wWHmID uTabLly Srews . (EQ 11.4
17)

Firey

Cwrss ubgisst = 12 (8 W ,4B)

QB Tends W TSH6 LD eCleur®  GlausTemer

10 Gsrh@w

12 upgIsafled®mbBSI, 2 ubgIseT sTHLILSTD, n(S) = 12¢, = 1211 _ 66

1x2
euriiiiyser: 2B, 1B1W,2W

X et6iTLIg) GlausLEYID ClGTEWS 6T6ITS.

@)reisT(HCLo H(HLIL| LIBGIS6T 6T6vfleD ,Cleusvgid Cgmemas X =2 X 20 = ¢5.40

2 B@LILY ,1 Geusiremer srevflsv ,Ceusvgd Ggmews X = (1 X 20) + (1 X —10) =20 — 10 = ¢5.10
26
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@)resrHCLo Qeusiremen LibgiS6r sTesflsv ,Gleusvgid Cgmewas X =2 X (—10) = @5.— 20

-~ X =40,10,-20
X = 40 sterfled ,0lorgs auflser = 4¢, X 8¢,

4x3 1-6
= X =
1x2
X = 10 srasfle0 ,Quorgs suflssr = 4¢, X 8¢, = 4 X 8 =32
. . . 8x7
X = —20 ererfled ,Qorgg euiflaser = 4¢, X 8¢, = 1X P 28
(i) Fymefl LHMID LreubHLILg
x f(x) xf(x) x*f(x)
20 6 A 1600 X 6 _ 9600
g E 66 66
. 12 320 100 x 32 _ 3200
66 66 66 66
—20 28 —560 400 x 28 1120
66 66 66 66
24000 4000
Yrw=1 | Yyw=o | erem=200_ 10

grrefl E(X) =Y xf(x) =0

ureupng V(X) = E(X?) - (E(X))* = L #*f(x) — (X xf (%))?

4000 5 4000

11 11
_ [Ae ™™, x>0
36. f(x) = {0, LAl s s e

Fweumiiiy wrm X —&@ Fyrefl wHmib ursumLy srews . (Eg 11.18)
Sirey

n!
ant1

a
Jo X" e dx

gyrefl p = E(x) = [ x f(x)dx = fooo xle ™ dx = /1[000 xe Mdx =
1!
=1|3

1

V)

]=1<n=11=@
)' )
E(x) =

2

Be) = L = et an e ax =32 3

27

T BlBLPSH6 L TSP FTiL| 2 _6iTem sp(h
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urGsupig = E(X?) — (E(X))Z = ;_z —n ==

37. Lipsasramib @@® Fweumiiiy wrP X —er Blapssey Blewn FTiyseEnsd Frmafl whmibd ureupLlg
srevorss .( Ex 11.4-1)
! x=2,5

M) fa=1{" W f@={=, x=123
<, x=0134
2x—1), 1<x<2 : 1e7, >0
(i) f(x) = {0( Y ) . . (iv) f(x)= {2 € x
 LiproglingsepseE 0 LDl sesés
Biray
(i) Fyraf whHmib ureudLILg
x f(x) xf(x) 22 f (%)
2
0 — 0 0
10
1 2 2 2z
10 10 10
2 A 2 o
10 10 10
3 Ac 5 18
10 10 10
4 2 8 32
10 10 10
5 d- 2 25
10 10 10
23 81
=1 = — 2 = —
> r@ dDHw== | D x® =

symefl E(X) = Yxf(x) =2=2.3

10

ureupuy VX) = E(X?) — (E(X))? = T x%f(x) — C xf(x))?

=81-(23)2=81-529 =281

28
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(ii)
P&EPS5Ee| Plewm Frir
x 1 2 3
4-x | 3 2 1
fO===1% | & |5
(i) Fyraf whHmib ureupLILg
x f(® xf (x) X2 f (x)
1 3 3 3
5 6
2 z 4 8
6 6 6
3 1 3 &
6 6 6
10 20
QI@=1 | Yxw=— | Y@rwm==
srref E(X) = Lxf(x) = == 1.67
ursupuy. V(X) = E(X?) - (E(X)? = Zx%f(x) — (T xf (x))?
20 (10)2 20 100 120-100 20
=— (=) ==-—=—"—="=056
6 \6 6 .36 36 36

(i)

FrmaFif]

E(x) = [~ x f(x)dx = flz x f(x)dx = flz x2(x—1)dx = Zflz (x* —x) dx

=255, =2 (B B3 =2 B3 =2 1)

5

3

E(x?) = [ fdx = [ 2 f()dx = [[ 2 2(x-Ddx=2[ &*—x)dx

-2, =2 (a-9- f-g) -2 o414

urGeumLig = E(x?) — (E(X))2 =

(iv)

@© —
Jox" e dx =

4 7 1]_2[48—28—3]_17
3 4| 12 6
o)y or_ s _stso_ 1
6 3/ T 6 9 18 18
n!
prrsy

29
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2 C

symef  E(x) =f_°°wxf(x)dx=f0wx%e_)2£dx= %fow xe_gdx=% [%] =2=2¢ n=4,a=%)
2

E(x)=2

E(x?*) = [* x* f(x)dx = [, x* % e dx = Jy x* ez dx =
2
urGaupug = E(x?) — (E(X))" =8-4=4
38. prretrg Aauliy UBFGISET LHDID APeTH HHLIY UbSISHET CETaT @) FnewLulledBha LSS TS

[16]=8 (n=2,a=3)

N | =
N | =

QLT IOS5OEH @B uUbgssT Geuafluilsy sTGGHLILGSdTm6T.Fouliy LB Ceuafluiled 1B ELD
FTSSW T misener X etevrs. X — @)6ir Bl DSE] BlewpdaFTieniuid, Frrafepwujib sressrs.(EX.11.4-2)
Sirey
Cwrss ubgiser = 7 (4R ,3B)
) . . ! . . 7x6
7 upgisefledBhbsl, 2 upgiser sTRLILST, N(S) = T, = & =21
X ersdrgy) Heuliy ubglefler sTaTanildenasenwl @pldhE@LD FeuriiliL] T 6TeTs.
~X=01,2
LlreaBIGw sy stesflsh ,Crgs sTaveniléens = 4¢, X 3¢,
3x2
1x2
, AFeuriny, 1s@pLiny eresfled ,Clorgs stawtenilbens = 4¢, X3¢, = 4X3 =12

=1x =3

BlreavGIGw Aoy sty ,Cwrss sTamentléens = 4¢, X 3¢,

_4-><3 1=6
T ax2 T
(i) Frmef LHMID LTreubHLILg
x f(x) =P(X =x) xf(x)
0 3_1 0
21 7
1 oo 4 3
21 7 7
2 6 _2 4
21 7 7
8
Zf(x)=1 fo(x):;

syref E(X) = Lxf(x) =2

39. p whmib 02 YHwenen YPGB FefiKlensy Fweumiiiy wrpf X —er srraf wHpio LurGeubuig. LWHWILD
E(X +3) =10 wpgid E(X + 3)2 = 116 , steflev 4 wpmiid 6%-g05 sreiws . (Ex.11.4-3)

30
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E(X+3)=10
= E(X)+3 =10
= E(X) =10-3 =7 = E(X) =7
E(X+3)>=116 = E(X>*+ 6X +9) = 116
= E(X*)+ 6E(X) +9 =116
= E(X?) + 6E(X) = 107
= E(X*)+6x7 =107
= E(X?) =107 — 42
= E(X?) =65
urGeaupuig = E(x2) — (E(X))* = 65— 49 = 16
u=7 &o*=16
40. preir@ LrTET BTERTWBRIZET @R(MH (WPeODH FOWTLLILHEHTDET .SewevHerleir eTessreniiGenss BlEpalna
B&1556 BleppaTiy ,Frraf whmib urepLig srewrs .(Ex.11.4-4)
Sirey

EWTHS HTewTWEISET = 4

n(s) =2*=16
X e165TL1g] HlWL_&@GHLD HMVBHETI6HT 6TERTERIHeMHEDW GBS EHLD FLoeumiILiL] LOTD) 6T6IT .
~X=012,3,4
_ = =t _ 1
fO =Px=0) = 32-g
— e = a_4
f=PE=1 =g
» _ - T |
f@=Px=2 =g
A _ =a_2
f@=pPx=3 =-la_t o9
Cq
4)=PX= 4 = —=—
f@=PX=9 ==—
(i) arref LHYID LTreuDHLIY
x fx) xf (x) xf(x)
1
0 — 0 0
16
1 4 il l
16 16 16
2 6 12 24
16 16 16
3 4 12 36
10 16 16
1 4 16
* 16 16 16
80
32 2 =
DI@=1 | Y am=2=2 PRF(ORE
31
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grrefl EX) =Y xf(x) =2
uraupuy V(X) = E(X?) - (E(X))? = L x*f(x) — (X xf (x))?

=5-4=1

4. o uwenflsear @rulley auGeurm Sewr wesll CHrEFHGL @M Bleweowsdna Flurear Crrsdlev
aubg CFHLD .speuGleum(® BT HTemevullepid , p(h LomemTeui Hewrgl of 1460 HHE @) ruiled BlemsvwiddnE
CFsvflpri.wmewreur  gullsy Plwvwsims ewLujb Cursdledmbgs TWINIEETE STEHIS(HEGLWD
Crrsens X stewr BIOIL_Kisefled GplEsevmid . X —6ir Bl&1pSEa L ToHH FriL

1
f(x) =130
0 |, LAwwslinsense
sr6ofled) Fweumriitir) wrpf] X —eir siGliuriiiy walliewu seanflss aflerd@as . (EX.11.4-5)

Firey

0<x<30

n!

®.n —ax A
fox e dx = W

X —eir er@lrumiiiy wgiy p=E(x) = [© x f(x)dx = f030 x% dx = 3—10f030 x dx
_1x230_30><30_ ..
—3—0[ ]0 T 15 Bldl_migseir

2

42. sewflesfl wrfléssiuGoCurg uilrssrer wewnfl Ghrd LweaTUBSSUILGDLEUTS @@ LleTeTam)

FTSATEITSTYIET LIS Wb ChrHSler YL TdHdH FriL
f(x)_ {3e—3x’ x>0 b
— o, LAl senss 2O -

@) bifleiTerTenn FTSRTSIT TSITLTTSSILBLD B uj STeVSenss Hreverss . (EX.11.4-6)
Sirey

n!

©.n —ax —
f() X e dx = an+1

eTFTUTT&SSILIELD QujL’ STeVid

4 co [0 o]

u=Ex) = fxf(x)dx=f x3 e 3% dx=3f xe 3*dx =
- 17 1
=3[?]=§(n=1,oc=3)
E(x) =3

32
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43. sweumii’iy wrn) X —@)6r BlspSHe] L TSHF Friy

_ )J16xe ¥, x>0 .
F® =190 x<0 BS -

Fwsuruitiy wrp X —er grref] wHmib ureupuly srewrs .(Ex.11.4-7)

Sirey

® N ,—ax _ _n!
Jox" e dx = o

srrefl p=EX) = [* x f()dx = [, x16 xe™* dx =16 [° x* e *dx
2! 2 1
. 1655 =3=3(n=2.x=9)

E(.X) = E

E(x?) = [* x* f)dx = [” x*16 xe ™ dx =16 [ x* e dx = 16 [%] = % = % (n=3,x=4)

urGaupug. = E(X?) — (E(X)" =2~

44. 600 14565 Hser Qara g evrlLMulley gm ufa ¢5.200 —&@b Brerg ufassr er.100-4@b
2 ufl&Eser @5.090-&@h 61ars0ETHEEIDSI. 14505 CFevey h.2 erTDTEY ,6(h LG506)BL 1q.6T]
TSiTuTTéssIu@L Geupy sTensemwds sasrmlwey.( Ex.11.4-8)
ey
X Gausvgb CBrenas 6T6iTS.
~ X =e5.200,e5.100,¢5.50,¢5.0,

(i) Fymefl LHMID LFeubHLILg
x f(x) xf (x)
1 200
200 — 600
600 600
100 4 400
100 600
Y 300
100 600
0 E§2 0
600
2; x) 900
Xf(X) =——
Z f) =1 / 600
=4.5
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grrefl E(X) =Y xf(x) =15
aBliruridssiu® Qeupyls GsrTews ep = 1.5 — 2 = —0.5 (pagLid ep. 0.5)

45. Lesreumeusstaupmi @ FHMILIL LIFeU6) STERTaLD .
() mbg Frrer BrewrukissT @@ oD FrLLILBESTHeT WHMID Hwevsellesr eraisreniidensenwt X
EIELAEI R R
(i) em £orrer usew 10 Weom o B LOUGS DG wLHDID eTesr 4 CHTeiTmIsuS)6HT cTevTaRTdhenBemW X
@MsESmg) eters. ( Eg 11.19)

Sirey
(i) (1 BTewTwID FesrL_LILBL CuTgl Semev SewLLILGHETRT BHDSEH] P = %
1 1
q-= 1-— p= 1-— E = E

@bg FTTET BTERTIWBISHET §(h (LPewM FevwrL_LILIBHIbCUTg) ,
n=>5
X stetTug) SlewL_d@Lb Hemevsaflsir stausrentlsemna steits.— X = 0,1,2,3,4,5
FFGMILIL LIT6ue)
fxX)=n¢. p*q"™ ,x=0,12,..,n

1 1 5—x
f(X) = 5Cx (E) (E) ,x=20,1,2,3,4, 5
x+5-x
f(x) =5¢, (E) ,x=0,1,2,3,4,5

1 5
f@=5¢, (5) x=012345

2
(ii) Q@ us»L 2 HL L U@ Cuirg stewr 4 SewLLiughaTer Blapssey P = %
1 5
—1-p=1--=2
q 4 6 6

m usmL 10 wep 2 @l Ou@Gibd Curg,
n=10
X eredrigy etevor 4 G resTmisudlest sTewTewildhems steirs.— X = 0,1,2,...,10

FEHMILIL] LIT6U6V

fx)=n¢, p*q"™* ,x=0,1,2,..,n
10—x

q
(x) =10 (1)" (5) =0,1,2 10
fx y ~ Cx 6 6 Ix'— y Ay &y aeny

46. ugg efleTTéser CFsTenTL g LsVeuTiiliLg Caialed ,paibleurm aflarralh@h HTeTE HauaTsdfSned
aflewL_saflsv gpermy FAlwrer aflenL_wT@Lb.eassdler ygliLenL_ulley g remwraui eflenL_wefldsslpmi
e1eor%. Fflwrer allew_safler erasenillsemasmw X @olésdng stafled (i) F@mmitiy ureusd (i) wremrea
e Fflwrer aflewL_ser gyeflliugharer Blaspssey (i) Gmphs Ll ab 9@ el slurarsTs @)mEas
BlEspssey yHweuhennd srewrs . ( Eg 11.20)
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Q@ ueumiiilg Gxiailsy , OauppléssTer Blapsse p =

|| &I

Carevailsarer Blapssa) q=1—p =1 —% %
(i) U gl eflerréssr CEsmenTL @ m LveumiiliLg Cpieallev,
n=10
X stetTug) SlewL_d@Lp Qeunmsafls sTaistenilEenss steits.— X = 0,1,2,...,10
FF(HMILIL LIFeue)
PX=x)=f(x)=n¢, p*q"" ,x=0,12,..,n

1 X 3 10—x
f(x) = 10¢, (Z) (Z) ,x=0,1,2,...,10
(ii) g sflwrer aflewL_sewer SefllILSHETET BlHhSHe)
px=7=rn =100, () G} =10, (L) (3) 2lox9x8(3°
a=n=1m=10c, () (5) =100 (5) () =Tzxz(am

33

(iii) G®DHS LLFID @ aflewL FNwTersrs @) (méEs Blaspssey P(X >1)=1-P(X <1)
10-0 10

1-px-0-1-f0 =10, (3) ) - 1-(
—1-PX=0)=1-fO) =10, (5) () = 1-(5)
47. @i wpmuliy wry) X uller grred] whHmid ureupuiy wemCuw 2 whHmid 1.5 @b .
(i) P(X =0) (i) P(X = 1) (iii) P(X = 1) g dflweupewms srevoras . ( Eg 11.21)
Sirey

C&TH\dSOILL L BlLbSeneur gy np=2 & ugeupuy npq=1.5
npq 1.5 3
np 2 0.75 4
- 3 i o 3 1
q_4 y p_l q_ 4_4
np=2 :nZ=2=>n—8

FF(HMILIL] LIT66V
PX=x)=f(x)=nc, p"q"" ,x=012,..,n

x 8—x

P(X =x) = f(x) = 8, G) (Z) x=012,.,8

@ Px=0) =0 ==8¢, (2) ) =)

4

@ =1 = p0 ==, ()} (O =8 () =2 ()

4
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(i) P(X = 1) =1—P(X<1)=1—P(X=0)=1—f(0)=1—<Z>8
48. ABC @guuwn swurflsgh Gur@plseflsey srraflurs 20 % Qur@mlssr gplur@erearene ererd
seuTLPlwiin’ L g.Fwaumiitiy wepuiley @)l mbg 6 Qur@mlsear CsiboshiEaslLBSEng -Cogib
Gpur@erer GuTHLsefler sTawreniisamaamw X Gplssmev (i) B)m GurpLssr Gswpur@®siterensy (ii)
I9FF UL FID @ QuTmer Gewpur@ereng (i) GwmBS L Fb @) CUITHLS6ar GewnuUT®siTaTene
QFweuhBlsTer Blspssey srews . (Eg 11.22)

Birey
GmpuTerer @ GUTmHewers CHTHOSHLILSDETET Blapssey P = 20 % = % = %
1 4
:)q=1—p=1—§=§

6 QurpLasst GxiH0sHESSILPLEUTE , N = 6
X ersiTugl Gewmurerer GLTmL_seflerr eTevwrsnilhbensemw eteres.— X =0,1,2,...,6

FEHMILIL] LIT6U6V

PX=x)=f(x)=nc. p"q"" ,x=012,..,n
X 4_ 8—x

P(X = x) = f(x) = 6, (%) (E) x=01,2..,6

(1) B QurHL ST GHWDUT(HETOTEN A

P(X =2) = f(2) = 6, (%)2 (%)H - i i ; (%)2 (3)4 B (:_:)

(ii) IFB L&D h GQUTHET @GHHDUT(D6TeTG)

P“S1)=PQ=O)+HX=1)=Qb@f(9&0+%1GY(9&4

=)+ () =4+ 6 () =106 =2
(i) GEODHS UL FID @)H QUITHL ST GHMDLUT(HETaTENE
5

P(X22)=1—P(X<2)=1—P(X51)=1—2(§)

49. SpssEramid FHMILLY ureusd B(n,p) —dasra P(X = k) eretuensd senflés . (Ex 11.5-1)
(i)n:ﬁ,p:sl,k=3 (ii)n=10,p=51,k=4 (iii)n=9,p=21,k=7

Firey
C&BTRSSILL L BlLUbSHen6T (Hn=6,p= 31 k=3
2

1
q=1-p=1-7=3

FFGMILIL] LIFeue)

PX=x)=f(x)= ng, p*q"* ,x=012,..,n
3 6-3

P(X =3) = f(3) = 6, (%) (g) x=012,.,6
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6x5x4 1\ /2\3 1 8 160
S @ e
1x2x3\3/ \3 27 727 729

1
(ii)n=10,p=§,k=4

Pax=a=f@ =10, () ()" =) () =2100() ()

(iii)n=9,p=zl,k=7

P =1 =0, () (7 =20, () () -2 -3~

50. s1h8 pwHAuileYid h @vEemasd Sl .Q HTEHS BlEIPSHS6 41 G USHG (PEOD Ui B)VdHens HTHds
YwhASE DT eTesrE CBTENS.BVEBMES HTds () #flwrs 4 weowpser (i) GewpHS UL Fb Q@B WewD
STEHGMUSDE S weupPnsreT Hapssey srews. (Ex 11.5-2)

FFIHMILIL] LIF 66D

PX=x)=f(x)= ng, p*q"* ,x=0,1,2,..,n

. 1\% /2\©
(i) sfwrs 4 geopaser  P(X = 4) = f(4) = 10, (Z) (I)

(i) o>pHs LLFb @) Yoo

PX21)=1-PX=0)=1-f(0)=1-10, (%)0 (%)10 = 1‘(3>10

51. Spssramib Crrsemerseflsy FEHMILIL LFaue»eIll LweTUBSS Fweuriiiy wrm X —

6T Fyma
HDID LFeuDLILG ST .

(iii) 100 sL_eweu m Foresr prewrwd SFaTLLLBS DG Smevsaller erasanisensmw X @GUlsEna

6T6HT .

(iv) 100 sLeweu Frrer usewL s LLGE DS

@M&ESmg) erers. (Ex11.5-3)

Sirey

X et6dTLIG] BTewTWILD HeWT(HIDELITF HlewL @G LD HeweVHaifleiT 6TevsT6ssldH6MSE 6T 5.
n=100,p =

. eter 4 GarermieusnaTer erarentsmaenw X

(i)

N | =

1
q—1—p—1—2———
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1 . 1 1
Frmaf np = 100 x 2= 50 & wureupuy npq =100 X 2%X3= 25
(i) X eredrugy usewL 2 HLQCUTE HewL_&@Lb 61wt 4 -B)6sT cTevvTewTGENS 6T6IT .
n=240,p=:
1 5
9=1-pr=1-%3=¢

1 . 1.5
Frmrai np=24-0><g=4-0 & uu'su'r_r)uu.]_npq=24-0xg><3=—

52. om aTCrrgemearuilsy @m @GOILLL L FTSaTSST STEIGL FDMIESTET HlHHSH] % CergléEsiiul L
@bl FAWrs et FTHaTRISaN6T STHIEG SDMIESTET Bapssmeuds serLnls. (Ex.11.5-4)
Birey
X et6bTUGI STEIGL FMISSTRT Ll6TFTSRTEISH 6T 6TTERIHENS: 6T S,

n=5 ,p= ;

3 _ 1

q= 1-— p= 1-— Z = I

FE(HMILIL] LIT66V

PX=x)=f(x)=n¢, p*q"" ,x=0,12,..,n

. . 3\3 (1)?2 5x4 27 1 _ 135
() sflwrs 3 Frgeriisar  P(X =3) = f(3) = 5¢, (Z) (Z) :1—; XX o=

53. 9y e_pusSwrerflwmbgH @@ GOILLL L WsTouamnasds &malleww @@ allhusnearureri 6% Teirwpsev
Qe widlpri.e_pusgdwreri smalluller uwsTGD Fafsd S5 % sars FmmSDri.CETeTLS6L
Qe inuin’ L sréfledmbg 10 Qur@glsensr allbuswerwrarflsr uf@Frgasi Fweumiiliy wenmuils
ufG@srdlédmri.geupmier () GwpHs Ul Fb @m uwsTear Gurmsr (i) sMwrs @)@ CUTHLS6
LWsTS @) H5S BspsaHe] srewrs . (EX.11.5-5)

Biray
X er6dTLIg] LAPSTET &[HAIS6IT 6T6dT5.
n=10 ,p=5%=——=0.05
gq=1-p=1-0.05 = 0.05
FE(HMILIL] LIT66V
PX=x)=f(x) = ng, p*q"* ,x=012,..,n
P(X =x) = f(x) =10, (0.05)*(0.95)1* ,x=10,1,2,..,n

()  oomps ulsd @K LEsTET QUTHST G)Béks Blapsse|
PX=21)=1-P(X=0)=1-f(0)=1-10¢, (0.05)° (0.95) 1070
=1-(0.95)10
(ii) Fgflwres 2 QUrmerser LWSTS B)(HES BEDBHE6
P(X =2) = f(2) =10, (0.05)* (0.95)3
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54. om urgsrs el eflersdlsr LwesTURID STV GewDHG L Fib 600 wenfsg6M s EnEsTeT BlaSH0)
0.9 steflev giGFemaw 12 aflersGsaflsy |
(i) #flwrs 10 aflers@gaseaflsir LweTUGILD STVD GewmHS UL &b 600 wenflggiafsEpdssTear BlEps56]
(il) @wpHs L Fib 11 aflerd@asefsr LwesTU@D STV GBS UL Fib 600 wenflsgef s ensasTer

plspssa|
(i) GDHBS UL FiD 2 aflerdGseafler LweTU®LD STevd GHewHH UL Fib 600 wenflsgefS6r g

BOVTHTSHSTERT BlHPSHe] YSweupenmd sressrs . ([ Ex11.5-6)

Biray
X ersitug) urgrF Yail aflerd@ LWSTLHSSHID HTEVLD 6T6EHTS.
n=12 p=09 ,q=1-p=1-0.9=0.1

(i) P(X=10)=12.,(0.9)(0.1)2
(i) PX>11)=PX=11)+P(X =12)
=12¢,(0.9)1 (0.1 + 12,,(0.9)2(0.1)°

=12(0.9)11(0.1) + (0.9) 12
=(0.9)11[12(0.1) + 0.9]
=(0.9)11[1.2 + 0.9]
=2.1(0.9)11

(iii) gewmbs ULl &b 2 aflerd@ast = 9Fla b 10 aflersGassir

PX=2)=P(X<10)=1-P(X>11)=1-2.1(0.9) 1
55. i m@pmutiy wryY! X wlledr symrer] whHmpd L aflewssd weampGuw 6 wHMID 2 G .
(i) papssey Bleop Friy (i) P(X = 3) (iii) P(X = 2) g dlweamenms sreisrs . ( Eg 11.5-7)
Sirey
Frraefl np=6 &
AL aflwssd [npqg=2 = npq=4

:>~6q=4:>q:2

3

() Bspsss) Haop sriy
PX=x)=n¢ p"q"* ,x=0,12,..,n

P(X = x) = 18, (%)x (%)“H ,x=0,1,2,..,18

(ii) P(X =3) = 18, (%)3 @15
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(i) PX=2)=1-PX<2)=1-[PX=0)+P(X=1)]
1 0 2 18 1 1 2 17
= ‘[“‘fo <§> <§> 18, (i) (i) ]
2 18 1 2 17
:1‘[@ 18 (i)(ﬁ) ]
2

--(3) [ 5+ B]--56)

56. 4P(X =4) = P(X = 2) wpmuib n = 6 ergguibLig 2 erer X ~ B(n, p) —@)eir ureuedlsir ,Frraf whmib
S L_allevss g Eweupenmds srewrs.(EX.11.5 — 8)
Sy n=26
4P(X=4)=P(X =2)
= 46¢, p* q4° = 6¢, p* q*
4p* =q* = 4p*=(1-p)°
= 4p? =1-2p + p?
=3p2+2p-1=0
1

=>p=3—,—1,

1
'-‘p>0:>p=3—

W =

1
1— = — :1— —
1=3 =4 3
Frmam np=6><31=2

; N . fz 4 2
L allwssd /npq =./2q = 25:)\/;:ﬁ

57. 5 griupp Crrgemersamer 2 ewLw @ FHHLILY ureusdlsit 1 wHmID 2 CleuHMlbETeT BlEHLDSBH6SEET
pemwn@u 0.4096 whmib 0.2048 gy @b. FBmiLiy ureuedlsir Frmaf] HMHID LTFaDHLIG ST .

Firey n=>5
PX=x)=f(x)=5;p°¢°* ,x=0,12,..,5
Bupseerssr: P(X =1) = 0.4096 = 5. plq*=0.4096 — — — (1)
P(X=2)=0.2048 = 5., p?q®=0.2048 — — — (2)
(2) i 10p'q®> 0.2048
(1) 7 5p%2q*  0.2048
=>2p—1=>4p—1=>4 =q=4p =1 =5p=1= _1
g2 g pP=q p=1-p p= P=3
1 —1:> =1 1_4
1=579= 7575

Frmraif np=5><51=1
ureupuy npqg=1xq = g
40
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